ALGEBRA PREIMg  20{F PorMER (G610

Note Tite o
@ Q\IQ/C>O Q\-L(o-eC =7
4 57 o2
o &g
Owoyu&% f) ZKKOLJZ _&> -2 A;;ﬂ =30 <°\45*2j_’ (3,094

Oa
Pomo Fodons Bundhing & Shan Batunds 2 couh

3_41/;7 . [Cw b+ CY}—C?CQ{](OZCZ 2 0
oD C Jeye

£(obc) »,3(5,?,?) < 9.05,9) +3.059)p +3,(539)p"
S = aibic 7 f

7:&[0-{LC+C_
T::&LJC

() o £

473 £(%22) 0

=0

0 (=0 9, =43
~1%
pa 0,3]) e r(4)co

) in W(%f{p-! (3-& ~ 751\(1);0




-71.(’1(.\): 4 - A -7(('3>= -3 »C(’BBS %V? 4"1(3) .
Se ?\{%Q < M'{—g @Q/\. fm{-mie%nbu\kl p(< y Q-'QH’\'L‘*-QMA' (S .3'\-Q

a(2)aq-e2: 6 () 2.4 - 31— ¢392
T k A/?> 37499 439
(
(._ ’
5’7 49 7 ~ 48 ~f@5>>’z(%>.

Q?%‘ aﬁwswoﬁméec54% R
L(5) > ‘3'% Pe)» %-9

4
3

In

Modo 7 :  Comvéx —comcont
Wi tobo NQuamrn m+ﬂ942= C
-f Jc,c‘ .f|\ C/Ovvw(ﬁf\'& R o W»U"a\ ’)S&L
Aloa Pwm('\ /S{_o'-?—\'ow da -g(’RB—\-@(ﬂ}\ +~E(=2) Aetro "60/&
-FM W\— Q/QAMMQ G{MZ ‘([Lo\ ’xl/}/ ¢ Ao o (A;/v\o.ﬁ:«
2 A

Vo- WHOM/O \'Q L.)a’lczc ¢ n=h

?
20(2) 4 L(z-2n) 30
deaive Q_f[(h)—'?“C/%——Z?J(m:{ =0
N doise L (0 4 €L (3-22)

2 5. € 45 |
T 2+(n,,zz)4 £>0 Yy
el éo\maﬂ



M

._-—4 L
) ;

S it > 'ia4blc7~
(3+\o+c)4 = Zaq G Za"‘\ol»r 122 27be « 4233b

2Tc,20) +43[42,2] « ¢4, 40]+20f3 2]
4043474 95,3, 07+2E‘>1 /ﬂ> 814,20

(6,2,0) + 4[5 3,07+ 615,147+ 34,4 o]

_—

FA2[4,% 4] +/lbf3,3,2]'£ 34 [4,2,2]
33 2 5 K2
%3 b~ ¢ R% 2 C

> 2 a%bic
B
Safbt 4+ 232 2%kt

S

] 8, 4/
> 3%3‘% P

2 35 50 2



'FZQ-L“)ZE

gl S A ey

Pl
j,('ﬂ = _O(T) 7-;’—5-?-( %) + %%}’b__) -Lrp\) }(w) L}(}) > ;_(q_.éj)

%}3/{ >+'7T{——§ﬁ g%a('zw;,) < {{2‘}(%)*%5—(’5—3
L6306’ g nen crmnk

K= ? j,(m) =9 (2x) j,(ZM’U =7 "'3,(%) ne 7

‘. ANC Lot e\n'&!ﬂ/\wswv{ﬁ/ j,(’n)so
/}\/3’1 ZA‘Z Aggeﬂ/z/ ’n}_,g ZZ . 4
& .
() = j,(z ) (jf('b-i j'(";l)*}(’b (Zzuf)ézz o) ’bj@ 4_3;( ?}
SOEEI0 z }(’U 2,;:»( eg(1)

.20 ?ual/hom, /j_-ag’l(' AS{___—%-—?—-'IO’( ___}Vlj‘-’-s

A - ) w = _awt! WA
(CZAZ “F ~§Z?L +2 Moat Dn =2 n éf;s/f;mrz

LZW\ L>{M

3(1] ~ .. j(%HQ_\M) £ ... 5 4}4’(4\) 4/5__%_3_[1\ 521‘*” g (4)
NP

i\

Q/L}-L'z“")%(ﬂé(’gwm”)?(«): g(’gmz“)s %,(«2,3 <45 :%}(Jg@l_z“’\) AQ
[5(2) - m gl €273 (0 vur o



=

—
-—

tek

T = A= ey
i} i( A - a4 "
= v — B \)\_r:——— :k% ('zw. 1241 )%(@f@) +1Z<2k“2k+4)
AL " e/
MZ:‘ (N\r%:; G )Z (%‘:-— 2z+z) - ’( /I

2wt 5\{?7« \J‘Emm

(JE_I \Ef> i1 = AU v 4 =2- {7 <

fi\’lf



[a8] g0

(o) £(x) cH VY

(b)) Vx,q}ém
ﬁ(ﬂﬁ(*a))“b—‘p(ﬂ =fk-€(4}) + L (xg)
T T =0 O=/}—F(o>
£(e)=0
T ) =4 Pladl0)) = £(a)

4’(4):9 W (ld/\.bw;g'o\,"o
=1 P(f(u))+0 = E(n) e f(a) =2 l()

e(...£(e(5).) = 2" Lln) =) flyleo ¥y

R /‘}_ F‘kt @(r;,):@ ko 4—’9_6(%):0 Lf(«/}ﬂ

H—’E% 2 noluz Mmwo A f(«)<o
= {0 2 420

" LOO7. £(p0) =2 £()
T f(n) = 0, 2

Vo = P()2n = 10 D fzo ow porvi il



—DV—L %—QMQ—:s :




